MINISTRY .F ED'*.L:.CATION

B ST VINCENT -AND THE GRENADINES

TRANCE EXAMINATION
f'IMATHEMATICS

TEST CODE OIZA

o __Tlme _allowed ___1 hour 30 mmutes i
L ':Instructmns
o '. 1 ‘This exammatlon has 60 1tems

- Each item has four p0531b1e answers A B C D
- Choose the cerrect answer '

2 _'On your answer sheet shade the c1rc1e which contams the letter you have
e 'chosen for your answer L

- ke "-‘""':f:'.'::'a‘_:er out of the exammatwn room.
e '_'__'_Retum thts bcoklet ‘your - answer - sheet and all scrap paper to the
._1nv1gllat0r before you Ieave the room TR el .

i _- ':_4 You have 90 mmutes 1n whxch to complete thxs test




! thc square of a whole numbcr'?

D 5

| = _--'_23 gxlxg__ i -

.-AO

o ?- 263 + 2Q+ 3

SR . 21+21+21 gwe"? > §Ame Té:

A21+3

4873 - 360

A 1203

o opis

‘Which of th

An

__lll‘th equ;ence shown above'? SR

Thc number 679 rounded to the nearest ten 1s

A610 13670 csso

D690 S

TR

A The numbers m the Ioop above are BO !

A odd and prime "B évenand pnme
C odd and omposue D even and composne




43 + 84 + 95 wli‘-'ﬁ" '

A O, 222 c 22 2 S D2

If3 }5x10 31 5 then3 1S>< 100—»..

A 0315 B3I c 31 s DaIso




"In the d1agram above,
: Iength of the pen‘?'

- _._A 20cm i

C SOcm s

what is mej_=ai_ff¢g¢ﬁ¢¢j'i§¢f&e_ea:_ﬂ;e;1_ér:;gﬂjifof fn_e? mljer_ana the

D 130cm

5 thh set of f ctions ls arran ged in erder from largest to smallest?

DIO




R '_'Wthh of the fguowmg glves the same resu]t as 10 . 2 q

c12 2><2 szxz

_ A szxz




S - What u,theLCM of4 and 6‘? o

L e i

[ vtich of e solowing diagrams s all h frtorsof 67

A2 BIO ¢tz pawu

_ The penmeter of rectangle WX}'Z shown m the dlagram above is 28cm What is the
iength m em, of srde YZ'? ; _ . _

A 10 B 14 czo ;--:D '"2'_4_ e




. -Imhe shape given below, which two angles areacute?

|hmmis  sdmin cwmm  Dumis

'_ 'In the tnangle above ngle anobtuseangleWh‘ChOfthefouowmg i.s'ﬁ_u.e. about

| A Theya . S
B They are more than'90

EEry f The tna;ngle above has all mdes equal What is the:S._ ‘_e: Of each angle?

lase B 900 o c 100*’ s 180° e




[ L S

b et e et Pt

on (1,2) and G is at position (3, 5). What is the position




Wthh one of the followmg DOES NOT cerrectly match werds and numbers‘? S
I_ A one hundred and eleven = 111 S
- B one thousand and one - = 1001

N “C one thousand and eleven = 1011
_'_-:'D eleven thnusand and one- ;'_r_& li()l b

IQ"SO% of the cest ef a book is $30 How much does the beok cost‘?

. -.-$45. _' $60 Do

: '_ALL ef the followmg are number facts abeut 12' EXCEPT

A 12 is one 1ess than 13
S B 6ishalfof12
o C o 8is4more tha:n 12

D A2is twme as large as 6

_ 'Wthh ene of the follewmg statements shows the relatmnshlp between the two angies
S lm and p, shown n the dlagram above‘? T :

Am+p 909 Bm 'pw-go“'-"'

i C9ﬂ°+mzp D 90° tp -m

: :Lev1 went on hohday to Engiand He needed poeket meney S0 he went to the bank and
B f-changed EC$4&0 to pounds sterhng EC$4 m Hew many pounds d1d he get from .
'_':thebank‘? RN e _

| Aaste0 B £200 -i"'.fC'?.':ﬁf?if:(.’Oj_f D




S same as lkg?

-z ofh .
What ﬁact;endldhe Ieave fnr_ 1s-daughter‘? T

s’imoney for hi wife, T ¥ _-_-or hlS son and the rest for h1s daughter

Which of the £

s ____:'jcanc cylmder sphere cube oE

oliowmg represcnts_ thc shapes m the order that they are gwen above?

ere, cylmder cone S
ube, ‘cone; cyhnder-..’_- L

"11nder ‘cone; cubc Sphere R




: Elét'_ Road

The diagra -..--a‘o : OWS three bus stops along a road A bus 1eaves I—hll Tap at l 1: 05 '
and takes 35 minutes. 'etween stops At what tlme doe 3 he bus get to Flat Road‘? o

A1140

thh of the followmg umts 1s MOST sultable for measurmg I;he volume of water in- |
the teaslaoon shown above‘? ' S _

'_A mlihhtre B centlhtre .' C htre " Bt -':D:fkilb_iilfm"z

Which Ofﬂlm Clocks g“’esthe SametlmeasMi‘? et




o . 25% written as a fraction is

_ has‘7

*

Tia has three hands af bananas and 4 smgle bananas as shown above Each hand has 12
bananas Whmh of these number statements glves the total number of bananas that Tia

CB3x12x4  C3(2x4) D 3a2-4)




Susan had 10 marbles Peter had twwe as many marbies as Susan Peter gave Susan 3 of
hxs marbles How many marbles does Peter have now‘? S

A 3 " B 10 o -__1__7_-_ D20

Three numbers are such that the ﬁrst number is half of thc second and the thlrd number
is four tirnes the ﬁrst Whlch nf the followmg sets of numbers matches the statement -
above‘? BRI : S AR S '

A ;{*5_;_*10?--2’0-}';'l CBasm 0{63 5,4}-1* o “-'f.D-.{:lz;.24; 3.}' |

- Use the information in the table below to answer question 55,

__ :.I"te.m' s Prlce .
R1pebanana S 18050 each _ :
Melnn st 25_per_sl1ce e

| How much did Tiba pyfzbanan and one slice of melon?

@

K1m went to the store and bought two 1tcms She pald w1th a $ 100 bl]l and got back $60
m change Wthh two ltems of those plctured above did she buy'? RN

| A shoes and bag B shoes and book C Skll’t and book ' D skn‘t and bag

1



“The. table below shows the numher of each type 91‘ ammal on a farm Use the table' N

o “to answer questmns 57 and 58,




Fonr f’shermen went eut ﬁshmg The Flsherles Department recerded how many
ﬁsh each man t:aught 5 _ foi ey S

Use the plctograph below to answer questmns 59 and 60

— __Total Number

| Fisherman . of fish

o120

.' '__'S1mon caught 120 f’ sh How many ﬁsh shou]d be drawn on the p;ctograph 1o represent
: _'S1mon § catch‘? RE R RRELE S ‘

. _How many ﬁsh dld the men CatCh a together?

S



